s

3 : 3. Usc Black/Blue Ballpoint Pen only for writing particulars
S| 3. TR faaw viftea w0 wE S0 e T & T e

- ]
— ~ - . 1

SKS16-I e iR e
Test Booklet No. 1 2 8 3 1 89
T-T—I1 /| PAPER—]
YEA WHe YR / MAIN TEST BOOKLET qyn oftram s
Wvﬁmgfﬁmahaamq@ﬁmquml Test Booklet Code
Do not open this Test Booklet until you are asked to do so.

T wlan gem & Ao smawm w Ry mRdw @ am A W) EE

Read carefully the Instructions on the Back Cover of this Test Booklet.

W g A 56 9k ga §)

This Booklet contains 56 printed pages.

RUEUR !ﬁa’-ﬁsm e : Instructions for Candidates :
1. OMR3IW- giﬁam STTTH gﬁ:ﬁm : MR Answer Sheet is inside this Test Booklet. When
EN g ;F il i e i ;23 g:c directed to open the Test Booklet, take out the
Er mmﬁhm“ﬁ ﬁ!&-l@g&-zmm‘(} Answer Sheet and fill in the particulars on Side-1 nnfl
e /AR ATz 3 A foam ) Side-2 carefully with Black/Blue Ballpoint Pen only.
¥ty i EviRies s test is of 2% hour duration and consists of 160
: qﬁ% %| zyam%mqﬂmﬁ lsomﬁlﬁ : & E}:sufns. There ;s no negative marking.

on this page/marking responscs in the Answer Sheet.

Wﬁﬁﬁﬁ TR AR A 4. The CODE for this Booklet is EE. M;i;li:c sulrcut]lmt the
{ i - Answer Sheet is the same
4, T yferw %1 wka EE ?1 7 ghfim = 4 5w geem @ CODE printed on Side-2 of the Ans

I : as that on this Booklet, Also ensure that your Test
m,m-w%g-zmﬁmﬂﬁﬁm% 198 \ﬂgﬁf&mmﬁ Booklet No. and Qnswc:a;1 %hclzct ﬁouﬂc] g:zcilnmmtgl;l:c%aoﬁ
PlEsEakite| @ e - f discrepancy, the candidate shoulc
ik Sﬁlgmm-ﬁm & o7 R, ?hc 1r?r.u;ugr toythc Invigilator for replacement of both the
@ Qﬁ&mﬁ{aﬁ e 3f S T H ﬁqﬁ'ﬁ&ﬁ w Test Booklet and the Answer Sheet.
T SR ST 5. This Test Boolet has Five Parts—, II, ll, IV and V,
5. mwﬁmg@mﬁﬁa W—I, 11, 111, 1V 3R v §, R 15 gg?rs;js:gngi ?r{ah?o Objective Type Questions and cac
ghe e & oo e 1 s ' Part- :Child Development and Pedagogy ; C(JQ.NNosdll—ggg
-1 At Card = o 1- Part-1I : Mathematics . Nos. 31
e :]faam S e (m.ﬂo -9 Part-IIl: Environmental Studies ~ [Q. Nos. 61-90)
g 1 (7 Te 31-60) Part-IV: Language-1 (English/Hindi)  (Q. Nos. 91-120)
guag 8
W+ TR S (s Ho 61-90) Part-V :Language-1l (English/Hindi)  (Q. Nos. 121-150)
M-IV T , fiffed) (4 Ho 91-120) 6. Part-IV contains 30 questions for Language-1 and Part-V
W=V WL (SRR (R He 121-150) contains 30 questions for Language-ll. In this Test
6. WM-IVH -1 3§ ﬁ.ﬂ 30 WA 3R AWM=V § w11 % R 30 Booklet, only questions pertaining to English and Hindi

i Language have been given. In case the language(s) you
v fu m %1 3@ when gt # daw o 3 R v @

have opted for as Language-1 and/or Language-1I is a

i AT STTT-I1 8 31TTeR language other than English or Hindl, please ask for
Wﬂﬂmﬁqm%mﬁw I;;ﬂ‘{/ N ﬁn & ki a Supplement Test Booklet that contains questions
ECikH () it T R=h m / ,aﬁg:':;ﬁwg on tthattnLang;:;ge.h Tl}e languages being answered
T whret | B am must tally with the languages opted for in your

;Tm:ﬂiﬁ%ﬁ%g &1151?::; i i e @ Application Form/Admit Card, .
o 3“a|“ 7. Candidates are required to attempt questions in
Iaw kCici| irri%'q Language-1I (Part-V) in a language other than the one
11 (sr-v) 3 w3t s <6 et & I A chosen as Language-I (Part-IV) from the list of

7. witeneff =11 ( languages,
T g -1 (Wm-1v) 3 f s @ R

8. Rough work should be done only i rided i
5 @mqﬂmg@ﬂﬁwm*mﬂﬁmm“aﬁ‘ the Test Booklet for the sameym R

9. Wft 3 35 OMR IH-T WE 3ifFd | 0 IR AFGEF | 9. The answers are to be recorded on the OMR Answer

: 2 Sheet only. Mark your respo i
Sifim | IO 93T &g A T H wm fiftg 81 is allowed Tor cha?nging a:Pst}:ress, carefully, No whitener

e o 71 (a1 38 H) + ——
Name of the Candidate (in Capitals)
TPEE ()
Roll Number (in figures)

(TeaiF) ¢

(in words)

Wien-3; (a2 arerdi )

Centre of Examination (in Capitals)

et 25 e e % e
Candidate’s Signature Invigilator's Signature




PART—I / wri—I
CHILD DEVELOPMENT AND PEDAGOGY / @@ fasm af forear-vs

Directions : Answer the following questions

by selecting the correct/most appropriate
options.

1. Which of the following is the most
effective  method to encourage

conceptual development in
students?
(1) Give students multiple

examples and encourage them
to use reasoning.

(2) Use punishment till students
have made the required
conceptual changes.

(3) New concepts need to be
understood on their own
without any reference to the old
ones.

(4) Replace the students’ incorrect
ideas with correct ones by
asking them to memorize.

2. Primary schoolchildren will learn

most effectively in an atmosphere :

(1) where the focus and stress are
only on mastering primarily
cognitive skills of reading,
writing and mathematics

(2) where the teacher leads all the
learning and expects students
to play a passive role

(3) where their emotional needs are
met and they feel that they are
valued

(4) where the teacher is authorita-
tive and clearly -dictates what
should be done
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3. A child sees a crow flying past the

window and says, “A bird.,” What

does this suggest about the child’s

thinking?

A. The ch?ld has previously stored
memories.

B. The child has developed the
concept of a ‘bird’.

C. The child has developed some
tools of language to commu-
nicate her experience.

(1) A,Band C

(2) Only B

(3) A and B

(4) Band C

What should a teacher tell her

students to encourage them to do

tasks with intrinsic motivation?

(1) “Complete the task fast and get
a toffee.”

(2) “Try to do it, you will learn.”

(3) “Come on, finish it before she
does.”

(4) “Why can’t you be like him? See,
he has done it perfectly.”

How can a teacher encourage

her students to be intrinsically

motivated towards learning for the
sake of learning?

(1) By supporting them in setting
individual goals and their
mastery

(2) By offering tangible rewards
such as toffees

(3) By inducing anxiety and fear

(4) By giving competitive tests

In an elementary classroom, an

effective teacher should aim at the

students to be motivated :

(1) by using punitive measures so
that they respect the teacher

(2) to perform so that they get good
marks in the end of the year
examination

(3) to learn so that they become
curious and love learning for its
own sake

(4) to rote memorize so that they
become good at recall

P-1/EE*
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7. Which of the following is an example

of effective school practice?
(1) Individualized learning
(2) Competitive classroom

(3) Constant comparative evalua-

tion
(4) Corporal punishment

8. The cephalocaudal principle

of

development explains how develop-

ment proceeds from :
(1) head to toe
(2) rural to urban areas

(3) general to specific functions
integrated

(4) differentiated to
functions

9. Which of the following is a sensitive

period pertaining to
development?

(1) Adulthood

(2) Early childhood period
(3) Prenatal period

(4) Middle childhood period

language

10. A 6-year-old girl shows exceptional
sporting ability. Both of her parents

are sportspersons,

send her for

coaching everyday and train her
on weekends. Her capabilities are
most likely to be the result of an

interaction between :

(1) health and training

(2) discipline and nutrition
(3) heredity and environment
(4) growth and development

11. Which of the following are secondary

agents of socialization?

(1) School and immediate family

members
(2) Family and relatives
(3) Family and neighbourhood
(4) School and neighbourhood

P-1/EE*
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12,

13.

14.

15.

According to Lev Vygotsky,
primary cause of
development is :

(1)
(2)
(3)
(4)
In the context of Kohlberg's stages of

moral reasoning, under which stage

would the given typical response of a
child fall?

“Your parents will be proud of you
if you are honest. So you should
be honest.”

(1)
(2)
3)

the
cognitive

adjustment of mental schemas
stimulus-response pairing
equilibration

social interaction

Good girl-good boy orientation
Law and order orientation
Punishment-obedience orienta-
tion

(4) Social contract orientation
According to Jean Piaget, which of
the following is necessary for
learning?

(1)
(2)

Belief in immanent justice

Reinforcement by teachers and
parents

Active  exploration of
environment by the learner

(3) the

(4) Observing the behaviour of

adults

According to Jean Piaget, schema
building occurs as a result of
modifying new information to fit
existing schemes and by modifying
old schemes as per new information.
These two processes are known as :

(1)
(2)

equilibration and modification

assimilation and accommoda-
tion

(3)
(4)

accommodation and adaptation
assimilation and adaptation
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16.

17,

18.

In a progressive classroom setup,
the teacher facilitates learning by
providing an environment that :

(1) discourages inclusion
(2) encourages repetition
(3) promotes discovery

(4) is restrictive

Howard Gardner’s theory of Multiple
Intelligence (MI) suggests that :

(1) teachers should use MI as a
framework for devising
alternative ways to teach the
subject matter

(2) ability is destiny and does not
change over a period of time

(3) every child should be taught
every subject in eight different
ways in order to develop all of
the intelligences

(4) intelligence is solely determined
by IQ tests

A 5-year-old girl talks to herself
while trying to fold a T-shirt. Which
of the following statements is
correct in the context of the
behaviour displayed by the girl?

(1) Jean Piaget would explain this
as social interaction, while Lev
Vygotsky would explain this as
an exploration.

(2) Jean Piaget and Lev Vygotsky
would explain this as the child’s
attempt to imitate her mother.

(3) Jean Piaget and Lev Vygotsky
would explain this as egocentric
nature of the child’s thoughts.

(4) Jean Piaget would explain this
as egocentric speech, while Lev
Vygotsky would explain this as
the child’s attempt to regulate
her actions through private
speech.

P-1/EE*
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19.

20.

21.

22.

23.

‘Gender’ is afan :
(1)
(2)
(3)
(4)
As a teacher, who firmly believes
in social constructivist theory of
Lev Vygotsky, which of the following

methods would you prefer for
assessing your students?

(1) Fact-based recall questions

(2) Objective multiple-choice type
questions

Collaborative projects
Standardized tests

innate quality

social construct
biological entity
physiological construct

(3)
(4)

To cater to individual differences in
his classroom, a teacher should :
(1) engage in a dialogue with
students and value their
perspectives

impose strict rules upon his
students

have uniform and standard
ways of teaching and assess-
ment

segregate and label
based on their marks

(2)
3)

(4) children

Assessment is purposeful if :

(1) it is done only once at the end
of the year

comparative evaluations are
made to differentiate between
the students’ achievements

(3) it induces fear and stress
among the students

it serves as a feedback for the
students as well as the teachers

According to NCF, 2005, the role ofa
teacher has to be :

(1) permissive
(2) facilitative
(3) authoritative
(4) dictatorial

(2)

(4)

P-1/EE*
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24. Research suggests that in a diverse

classroom, a teacher’s expectations
from her students their
learning.

(1) should not be correlated with
(2) do not have any effect on

(3) have a significant impact on
(4) are the sole determinant of

25. Inclusion of children with special

26.

27.

needs :
(1) will increase the burden on
schools

(2) requires a change in attitude,
content and approach to
teaching

(3) is an unrealistic goal

(4) is detrimental to
without disabilities

“Having a diverse classroom with

children from varied social,

economic and cultural backgrounds
enriches the learning experiences of
all students.” This statement is

(1) correct, because it makes the
classroom more hierarchical

(2) incorrect, because it leads to
unnecessary competition

(3) incorrect, because it can
confuse the children and they
may feel lost

(4) correct, because children learn
many skills from their peers

children

A child with hearing impairment :

(1) can do very well in a regular
school if suitable facilitation and
resources are provided

(2) will never be able to perform on
a par with classmates in a
regular school

(3) should be sent only to a school
for the hearing impaired and not
to a regular school

(4) will not benefit from academic
education only and should be
given vocational training instead

P-1/EE*
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28. Which of the

29.

30.

following is a
characteristic of a gifted learner?

(1) He is highly temperamental.
(2) He engages in ritualistic
behaviour like hand flapping,

rocking, etc.

(3) He gets

aggressive and
frustrated.

(4) He can feel understimulated
and bored if the class activities
are not challenging enough.

A teacher can enhance effective

learning in her elementary
classroom by :

(1) encouraging competition
amongst her students

(2) connecting the content to the
lives of the students

(3) offering rewards for small steps
in learning

(4) drill and practice
Which of the following statements
about children are correct?

A. Children are passive recipients
of knowledge.

Children are problem solvers.

C. Children are scientific investi-
gators.

D. Children are active explorers of
the environment.

(1) A, B, C and D
(2) A, B and C
(3) A, BandD

B,

(4) B, C and D
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PART—II / wm—I1I
MATHEMATICS / TTford

Directions : Answer the following questions
by selecting the correct/most appropriate
options.

31. A teacher of Class II asks her
students to write 4 ones and 3 tens.
Some students write as 43 instead
of 34. As a teacher, how will you
help the students in understanding
the concept?

(1) Give a lot of questions to
practise in column method.

(2) Ask the students to represent
on abacus and then write,

(3) Tell them it is wrong and ask
them to write the correct answer
S times.

(4) Always teach by column method
of tens and ones to avoid
confusion.

32. Which of the following statements
is not true about ‘mapping’ in

mathematics?

(1) Mapping promotes proportional
reasoning.

(2) Mapping is not part of
mathematics curriculum.

(3) Mapping can be integrated in
many topics of mathematics.

(4) Mapping strengthens spatial

thinking.
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& T S A 5 9R foraa F forg w3

(4) g TErE 3R s & wl H forem
Terandify @ 1 ym 7 2N

it & ‘wfafeeer’ % for Frefafad st

q 4 F=-u1 7 7 27

(1) wfifemo, ongufas fE=w =
Sicqrfed i g

(2) wicfemo, fvrG argEsEs @1 wm T 2

(3) wlfeswr =1 nftm ¥ = fawd
quTEEH R S At )

(4) s, Tonfier faaw = wem 2

32.

SPACE FOR ROUGH WORK / T %@ % fiu s

P-1/EE*
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33. Which of the following aspects of
‘shapes’ is not dealt with at primary
level?

(1) Angle

(2) Symmetry
(3) Tessellation
(4) Pattern

34. The mathematical
puzzles help in :

games and

A. developing a positive attitude
towards mathematics

B. making connection between
mathematics and  everyday
thinking

C. making mathematics enjoyable

D. promoting
skills

problem-solving

Select the correct option.
(1) A,B,CandD

(2) A and B

(3) Aand D

4) A, Band C

33, ‘onFREl ¥ Frefifaa wege § ¥ R
mufies W@ A HE day T 87

(1) =

(2) wmfufa

34, T T AR TRl e i €

A, T@ % i weRes AftEik @@
el 1

B. i@ 3R uRfm ¥ REW # w=w
Tt 0 H

C. | W AF<EEE TAH |’

D. THEN-TNIYE % Wwe hl Hiedited
Eack:|

wé frere 1 = T
(1) A, B, C3RD

(2) A¥RB

(3) A3RD

4) A, B3RC

SPACE FOR ROUGH WORK / 1% %1 & o i

P-I/ EE*

Scanned by CamScanner

1l | P.T.O.



35. A given rectangle and a
parallelogram have the same area.
However, many Class IV students
respond that the parallelogram has
a larger area. How can a teacher
help the students to understand
that their areas are the same?

(1) Using scale
(2) Using a geoboard
(3) Using a graph paper

(4) Using paper folding

36. Which of the following is not an
objective of teaching mathematics
at primary level according to NCF,

2005?

(1) Making mathematics part of
child’s life experiences

(2) Promoting problem-solving and
problem-posing skills

(3) Promoting logical thinking

(4) Preparing for learning higher
and abstract mathematics

35.

36.

daee @AF 3, weg FE IV F ayg
fnafiidt 3 sw R B @R
g ifum 81 foee, Rl o
que § A TR HEEAl FOEHRA 2 fy

3t ¥ e @ &7

(1)t 3w A

2) fEEE & w@ma

(3) ¥merE (as) TR F ST @

(4) 0T HIS & WA |

¥ oAl S 9@ (To Hio o),
2005 ¥ FgeR M TR R TR R
%1 Stw frfoied # & FF-a1 7€ ¥7

(1) 7@ = a= i fraft & st &
W AT

(2) FEEI-TEIYE SR R TR w0 ¥
BT H SR HwE

(3) THETA ot #r Srewrfed s

(4) Tﬁ]ﬁﬁaﬁmaﬂtwmﬁm
HAT

SPACE FOR ROUGH WORK / T% %M % fy 9z

P-1/EE* 12
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37. The difference between the place

value of 5 in 29503 and the face
value of 7 in 32071 is :

(1) 493

2 2

(3) 43

(4) 430

38. If 30028 = 28 ones + 28 thousands
+ tens, then the number in the

(1) 493

2 2

(3) 43

(4) 430

37. 29503 # 5 % WY AH 9w 32071 #
7 % difra A= # i R -

38. Ife 30028 = 28 THE + 28 TR

+ TeTs, o9 Th TH W §
blank space is :
(1) 280 (1) 280
(3) 128 (3) 128
(4) 200 (4) 200
SPACE FOR ROUGH WORK / 6 w8 % T s
P-1/EE* 13
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A 108 ¥ Y [ W g

80808

39. When the remainder obtained on | 39 oz 00909 F 109 ¥ WM ¥y

dividing 80808 by 108 is divided by " 'W 3 s e SR, W

the remainder obtained on dividing o

90909 by 109, then the quotient is : ?:

(1) 12 (1) 12

2 3 (2) 3

3) 6 3) 6

4 8 “4) 8

N Ll

40. If 603x28=63x4x , then | 40. @R 603x28=63%x4X » T T

the number in the blank space is : woF W qE ?:

(2) 21 @ 21

3) 28 @) 28

(4) 63 (4) 63

41. (The smallest common multiple of aft 400 & = # 30, 45 T 60
30, 45 and 60 between 200 and 400) | 41+ (200 o st sl ) Sz, o e
+ (The largest common factor of 15, B2l arik <) ? 5,
24 and 45) is equal to : 45 1 FEQ T ToHEs) sl ¢ :

(1) 180 (1) 180
(2) 60 (2) 60
(3) 90 (3) 90
(4) 120 (4) 120
SPACE FOR ROUGH WORK / 1% &M % &g s
P-1/EE* 14

e
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42. A number is smaller than half of one

43.

hundred and lies between 4 tens
and S tens. Ones digit is one less
than tens digit. If the sum of digits is

7, then the product of the digits in
the number is :

(1) 24

(2) 12

(3) 16

(4) 20

In a school, there are 360 students
out of which two-thirds are girls and
the rest are boys. Three-fourths of
the number of boys are players.
The number of boys who are not
players is :

42, TF & W ¥ o A o R ok 4 =

43.

5 < 5 = H ) 3uh T W Aw
TET & 376 W T 9 2| Al den § i
1A 7 B, W R B IS B ¢

(1) 24

Scanned by CamScanner

(1) 75
(1) 75
. (2) 25
@) 30 (3) 30
4) 60 (4) 60
SPACE FOR ROUGH WORK / % %M % f¥u g
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¥ 49,553 ¥ &) E

ER GRS S i
44. Harish bought a scooter for - 78 076 1 THS o N W?l’ﬂ’@m
¥49,553. He paid £8,076 in cash BN ‘37 fopett & T T g
and agreed to pay the remaining > m'ﬁl‘lﬁ'%

amount in 37 equal instalments.
What is the amount of each

instalment?
(1 €1,339
(1) 1,339
(2) ¢1,021
(2) ¥1,021
3) €1,121
(3) ¥1,121
(4) 1,201
(4) 1,201
h WmE FOER A PCHER Howg
45. A train left Hyderabad at 13 : 15 on 45. T _ wrcht sl e
Friday and reached Bengaluru at i : 15 i WHER WW
07 : 30 W UEH | AT F TN THA o7 :

07 : 30 on Saturday. The duration of
the journey was :

(1) 19 =R 45 fiFe
(1) 19 hours 45 minutes
(2) 5 hours 35 minutes " 9 W 35 fire
(3) 12 hours 45 minutes (3) 12 %2 45 fime
(4) 18 hours 15 minutes (4) 18°% 15 fime

SPACE FOR ROUGH WORK / % %1 % frq EUH

P-1/EE* »
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46. The number of minutes in 15 days is

equal to the number of seconds in :

(1) 8 hours

(2) 4 hours

(3) S hours

(4) 6 hours

46.

15 Tt # et 4 wem avar & A A A
e daet A wem ¥7

(1) 8

(2) 4

(3) 5

(4) 6 ®2

Scanned by CamScanner

s .ficiit“;: s rullilitres of orange | 47, @ % 15 #Mw 286 ffEAR W D
: e o 15 R TR ¥ 19 i 714 Pfwehw @ #
714 millilitres of carrot juice. 7 3 Romr § A -
12 litres 750 millilitres of the STl zl ¥ 5‘;‘ 12
mixture is used and the rest is 750 faferefiet s vl 3 @ s @ ik
filled in bottles each containing A ) a7 90 S R T ToS daa
250 millilitres. The number of # 250 fuferelter s@ o R daat
bottles is : & :

(1) 77 (1) 77
(2) 89 (2) 89
(3) 85 (3) 85
4) 81 (4) 81
SPACE FOR ROUGH WORK / ¢ &M % fow omg
P-1/EE* [ PT.0; -




48. The prices of fruits per kg are given

48. m’éﬁa“fﬁgﬁ kg:ﬂ%ﬁus"‘l% :
1850

below : pcte il
g72
Watermelon : & 18-50 %ﬁ 12060
Cherry F72 N 8-40
Grape . £12060 LiE] e
Apple : 7840 3 41 kg GEE, 1 kg 200 g 9§
m 2 b
Reshma bought 41 kg watermelon, 250 g IR 3N 13 ke w | ¥
1 kg 200 g cherries, 250 g grapes g@FEr # €500 1 T A oW
and 12 kg apples. She gave a Fray T afra frc?
¥500 note to the shopkeeper. How
much did she get back?
g (1) 173
(1) €173 (2) 162
(2) €162 @) €163
(3) 163 ) €172
(4) €172
49, wr H ww Rfen w0
49. The size of a soap cake x 5 cm x 25 cm

is 7 cm x 5 cm x 2:5 cm. The
maximum number of soap cakes
which can be packed into two boxes

7 cm

2 @ et @, TR orERE m
5 cm x 04 m x 025 m %,
g @ T Rfeat R i wen

each having internal measurements £ o1 gFA R -

as 56 cm x 004 m x 025 m 1s :

(1) 2560 (1) 2560

(2) 640 (2) 640

(3) 960 (3) 960

(4) 1280 (4) 1280

SPACE FOR ROUGH WORK / T %M ¥ fiu s —

P-1/EE* 18
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50. The length of a rectangle is three | 50. T 3w 1 g Iueh e i diF T
times its breadth. The breadth is 2| zah el w i ) VST 1 3T R,
half the side of a square whose foreem o 72 cm 2| @ -
perimeter is 72 cm. Then :

(1) the perimeter of the rectangle is (1) 3TIa 1 9REM™, =f % gfteg | &9 2
less than the perimeter of the
square (2) = 3R I AN F e SO §

(2) the areas of the square and
rectangle are equal (3) ™A I %aw, T F e A

(3) the area of the rectangle is more e &
than the area of the square

(4) the perimeters of both rectangle (4) A 3R = 2t % wfe T &
and square are equal

51. Which one of the following is not | 51. Fr=fifad § A FH-u1 & 78 27
correct?

(1) The volume of a cuboid of length (1) frelt o &1 o, Rt o
45 cm, breadth 15 cm and 45 cm, ¥ 15 cm AR =i
height 40 cm is equal to the 40 cm %, TR 2 I U F A
volume of a cube whose side is F PR g 03 m #

03 m

(2) One hundredth of 10 is equal (2) 10 & &9 = 0-1
to 0-1

(3) 55 litres 55 millilitres (3) 55 wfieX 55 Mfeteltex = 55-55 wiex

= 55-55 litres

(4) 2005 grams = 2:005 kg (4) 2005 TW = 2:005 kg

52. Which of the following is an

essential prerequisite to understand | 52, -3 T = |l ww-3h @

multiplication of a two-digit number A-9hY dE q TN HA h AR W

by a one-digit or a two-digit e ¥ R Pefifem § ¥ SR o

Anmber? ST B ST 7

(1) Commutative property of
multiplication (1) TR =1 wAffa o

(2) Multiplication as distribution
over addition (2) oM, I R e ¥ =g 3§

(3) Multiplication as inverse of
division (3) oM, fawreH % wiveim ¥ wq

(4) Commutative property of
addition (4) = 1 sEwfat o

SPACE FOR ROUGH WORK / 1% %M ¥ Ty w7
19
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53. Which of the following cannot be

co_nsidcrcd as a reason for fear and
failure in mathematics?

(1) Symbolic notations

(2) Structure of mathematics

(3) Gender differences

(4) Classroom experiences

53.

i 8 i IaH STEET 9 §
gﬁi{ﬁ?{f@ﬂﬁﬁﬁ@@mmm

S weha &7

(3) i 2

(4) HET-h& F R LR

Scanned by CamScanner

54, Which of the following teaching- . :
learning resources would be the 54. < THEE weait & tgn;ﬁﬁ;;ﬁ-qq' )
most appropriate to teach the Ter % fore Frfatad ! firm
concept of addition of two decimal 1 -9 T Tl ITY o
numbers? '

(1) wreft 3f AT
(1) Beads and string
TR
(2) Graph paper (2) T
(3) Abacus (3) HEGIN]
(4) Geoboard 4) T
SPACE FOR ROUGH WORK / 1% &/ % fou smm
P-1/EE*



55. The majority of Class IV learners
think that multiplication of two
numbers always results in a number
which is bigger than both the
numbers. How will you show that it
is always not the case?

(1) By showing it through repeated
addition of numbers

(2) By showing the multiplication

algorithm of two decimal

numbers :

(3) By showing on a grid paper the

multiplication of two decimal

numbers

(4) By showing the multiplication

algorithm of one whole number

and a fraction on a number line

55. %l IV ¥ atftsm frandi dd & 5 Q)
el ¥ PR A W den wE oE
sl ¥ 99 N }1 o Tw HY Wl
w0 Tor 7% w89 w1t da &7

(1) 38 9@ & sR-ax am % W
wefifa #

2 @ wWHEE Wemslt ¥ PR A
werq-faft & weldfa o

(3) T IR W 3 e Femstt % PH
%! WeRq Hh

56. Which of the following statements 56.
is true in the context of teaching TR % fau Frefafe § /@ FF-w s
‘measurement’ to primary class e 7
students?
(1) Non-standard measures should (1) SO A IR AN At
be followed by standard F o1E HE TR
measures.
(2) Faet AWRE W F ST HE
(2) Only non-standard measures l
should be used. ey
(3) Non-standard measures should (3) s wWdt W IwEw T w
not be used. =f¥w)
be
(4) Standard measures should
followed by  non-standard (4) ST WG i ITRT WHITE J
measures. % o€ F 9]
SPACE FOR ROUGH WORK / T% % % g wme
.T.O.
P-1/EE* 31 [ BT
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57. Which of the following assessment | 57 mﬁqj"r el mm%? %

strategies can be used to make ﬁ’lﬂﬁ M R T sl i
connections of mathematics with a1 &7 3’7
real life and promote inter- ; i foat <1
disciplinarity?

(1) Survey, project, checklist

(2) Field trip, oral test, checklist (2) g WA, hfteh e, St

(3) &= A, FT, TS

(3) Field trip, survey, project

(4) Field trip, oral test, drill
worksheet 4) eI P LUCE S @
RS

58. Which of the following can be used
as learning resources for visually 58, TR F HeI-FE 3 W ﬁ-‘m

challenged in a mathematics
classroom? ﬁﬁlﬁiﬁiﬁ | ﬁ 'ﬁ’—ﬂaﬂ gth’!‘[ ﬁT&Tl mﬁﬂ’l
¥ w7 o w0 wHA1 R 7
(1) Number chart, computer,
gealionrd (1) e =1, FrA, R
(2) Taylor’s abacus, computer,
geoboard (2) R F Fraw, FFg, FaEs
(3) Computer,  number chart, .
y . (3) FR, G =, e

(4) Taylor’s abacus, fraction kit, @) T w1 g, fm @ R, el
number chart T

SPACE FOR ROUGH WORK / 1% %1 % fiu wme

P-1/EE* 29
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59.

60.

In the context of ‘numbers’, primary
class children, i.e., the children in
age group 8-9 years, are able to
accomplish  which one of the
following scts?

(1) Seriation, reversibility, propor-
tional reasoning

(2) Seriation, classification, propor-
tional reasoning

(3) Seriation, classification, revers-
ibility

(4) Classification, reversibility, pro-
portional reasoning

A teacher of Class I asks a student
to count the total number of objects
in a collection of pens, erasers and
sharpners. The student puts all the
objects in a line and starts counting,.
He says that there are 2 pens, 5
erasers and 3 sharpners instead of
10 objects. In which principle/
principles of counting do you think
that the student is facing difficulty?

(1) Stable order and abstraction

principles
(2) Onec-to-one correspondence
principle

(3) Abstraction principle

(4) Abstraction and order

irrclevance principles

59,

60.

‘gemsil’ & wed § wafie wan F 9=
ufq 3 7= Forem e @i 89 ad g,
Frafaftaa # @ fora ag==a @ v €7

(1) uftrargan, wiecdar, s feem
(2) ufcpergen, affeor, agufees fre=m
(3) ufrarga, wrfferto, uftacta

(4) anffero, wftacdan, amgurfass fod=m

Far 1 % v e 3w fgeneff 1 adf
gt i TE Fw F o Fa, Bl W,
@ 2t TR &1 wwg un| feRneff 3w
FEgel I T @l ° Tl SR A g A
FEA 10 TEgel & WH W EE 6 2 9, 5
@ 3R 3 R 8| uh fER ¥ forenef
@ o ¥ fem faema/fem Rl w
SHieTE =1 FHAT T 98 @ &7

(1) fer wn iR ergd faer=
(2) TR T g
(3) 3 fRrar

(4) g iR ewTa W e

SPACE FOR ROUGH WORK / T &/ % fog s

P-1/EE*
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—J11
PART—III / wri—II
kel
ENVIRONMENTAL STUDIES / T

Directions : Answer the following questions

by selecting the correct/most appropriate
options.

61.

62'

P-1/EE*

In the EVS syllabus, structured
around six themes, ‘plants’ and
‘animals’ have consciously been
included in the theme : ‘Family and
Friends’. All of the following could be
cited as reasons for this inclusion,
except one. Which one is that?

(1) To help students to locate
plants and animals in a social
and cultural context

To highlight how humans share

a close relationship with each
other

(3) To highlight how lives and
livelihoods of some communities
are closely connected with
specific animals or plants

(4) To enable students to
understand plants and animals
from a science perspective

(2)

The purpose of ‘survey’ in
teaching-learning of EVS is :

A. to provide an opportunity to
interact with community

B. to make children sensitive to
different people

C. to provide an opportunity to
collect information first-hand

D. to use it as an opportunity for
assessment

Which of the above are correct?
(1) A, B,Cand D

(2) A, Band C

(3) A, Band D

(4 A, Cand D

Scanned by CamScanner
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61.

62.

24

e s % e, B 3R .
f 5 gt P B T 8 B Y

q B SEEER TR |
LI Shp SR

g i wiepfs @l d
iR wgell % T Ruifa wq 3
frenfdfat =t wEEar HET
(2) T@ A H A % T FE g
@-@ﬂqﬁﬂﬁﬁaﬁmm%
(3) T8 @@ S I R TR g
wgert % shew iR srehfaend fadn
ayedt et & ufie AR @

(4) Rt ® fam % gk 4 O
3 aygett Y GuEA T WEH S

qafere e & -t § adge’
FIRER:

A. UEE % WY STANAGHAT Hl EW
W B

B. =i = fafim @i % wfy w3emiw
A

C. I Hl TIY WH HW F 99 T&H
HE

D. I%eM & Th AW F ®7 § 6
ITERT HET

I § A - §?

(1) A,B,C3RD

(2) A, B3iRcC

(3) A,B3D

4 A, Cc3D

(1)



Directions : Q. Nos. 63 to 65 are based on
the following paragraph.

Given are responses of 7-8 years old
children after they have observed an
experiment done by the teacher, in which
water in a bowl is heated and it has
evaporated :

“Water has disappeared.”

“The bowl has absorbed the water.”

“The fire drank the water.”

“God drank the water.”

63. What do these responses tell us

about children and their thinking?

(1) Children’s responses are
illogical.

(2) Children’s thinking is incorrect.

(3) Children cannot make a good
observation.

(4) Children have alternate ideas
about evaporation.

64. How should the teacher deal with
these responses?

(1) Show the standard water cycle
chart.

(2) Give the definition of
evaporation and ask the
children to memorize it.

(3) Initiate a discussion to revisit
their ideas.

(4) Tell the children that they are
wrong.

65. Which of the following is an example
of a question assessing divergent
thinking of children on the topic,
‘evaporation’?

(1) What will happen if there is no
water cycle?

(2) List the steps in sequence of
water cycle.

(3) Draw and label water cycle.
(4) Write five advantages of water
cycle.

Ad9r : v Ho 63 ¥ 65 PrfRed saw ™
anuTiE #

e g0 wei v weRk § arh sarey ofv s
AT T F T @ F 9 7-8 9§ ¥
=1 & g RY T R 39 v §

“qrft T @ ™

“FR A ot A o)
‘I A ael b forn)”
‘s 3 arl o R

63. A IW T=1 MR T o F T A T
A &7

(1) == % IW qehEmTa TE §
(2) == $ 9= T 2
(3) T =B AIHA TE W U

@) aefimE F TR H S F e
fEm £1

64. g A T I H g R TR A
aTfRu?

(1) Sicrsh &1 6 A 91 NSRid H |

(2) arsfis i qfitam <€ 3 a=t =1 @
IE TEq & o w3

(3) % fauml o T: v & fog w
¥4l U9 &)

(4) ==t = 5@ S % 3 T@a §)

65. TEfimw fovy w ==t 6 Ay 9= =
e FA & fore Frafafea § @ ¥F-m
T T T & Wbl &7

(1) = e ARk seress dan & e
(2) ScT=h % HW % HGFI G R

(3) STeTsh 1 @ =g R W Tfm
i)

(4) Teresh & uie @™ ffau)

P-I JEE* 25 [ P.T.O.
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66. Which of the following are the

ncighbouring states of Jammu &
Kashmir?

(1) Himachal Pradesh, Punjab

(2) Himachal  Pradesh,  Uttar
Pradesh

(3) Uttarakhand, Rajasthan

(4) Himachal Pradesh, Uttarakhand

67. Match each of the locations with
correct description of common
houses built in that area :

Locations Houses
(a) Manali (i) Elevated houses
made on bamboo
pillars

(b) Rajasthan (ii) Houses made of
stones/wood  with
slanting roofs

(c) Assam (iii) Houseboats

(d) Ladakh (iv) Mud houses having
roofs made of thorny
bushes

(v) Houses made of
stones with wooden
floor and wooden
ceiling

(1) a b ¢ d
i v i iv

@ a b c d
v oiv

B a b c d
iioiv i v

(4) a b c d
iv 1 ii iii

P-1/EE*

Scanned by CamScanner

26

P #f & -8 T S S

b it

) wgﬁm,mm
(3) Wr@gswﬂ

67. W T & AW ¥ W W & A =W

S A e T % e = R
i :
W
T .
() wATeh () afm % el R IR
il
b) oem () TR W R A A T
ELCINR

(c) ww (i) FRHAE
(d) werd (iv) Tt & o Faeh vd e
el ¥ BT B
(v) ger ¥F T W E i
i B TR it = A
2

(1) a b c d
(2) a b c d
3) a b c d

m v i v

4 a b ¢ d
iv i ii iii



68. The different patterns on the skin of
animals are

(1) an indication of their physical
strength

(2) due to the reflected light
(3) due to the hair on their skin
(4) due to the weather conditions

they live in

69. “Pcople who have been living in the
forest for at least 25 years have a
right to the forestland and what is
grown on it.” This is mandated by :

(1) the Indian Forest Act, 1927
(2) the Right to Forest Act, 2007
(3) the Land Acquisition Act, 1894

(4) the Constitution (Scheduled
Castes) Orders (Amendment)
Bill, 2012

70. Which of the following is a set of
diseases spread by mosquitoes?
(1) Malaria, HIV-AIDS, Dengue
(2) HIV-AIDS, Cholera, Dengue
(3) Dengue, Malaria, Chikungunya
(4) Typhoid, Cholera, Chikungunya

71. Pitcher plant (Nepenthes) :
(1) is not found in India

(2) cleverly traps and eats frogs,
insects and mice

(3) emits sounds of high pitch to
attract insects

(4) has mouth covered with tiny
hooks

P-1/EE*
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68. YAl H wa w fafay 4 (femg)

69.

700

71.

(1) =z mhfe nfer 1 3fm 7@ &

(2) wrEfda wwm F Fww o §

(3) ! = T A F Fwor F &

(4) ;ﬂm%mﬁﬁtmﬁa@

“F =fr ST ¥ FH-F-FW 25 9691 A @
@ % & 30 Sma-gi w o 3ed 4
T arell aegalt W afusn 217 o' wRm
oo g T T 87

(1) vrda sre srfufEm, 1927

(2) e aAftrar srfufEE, 2007

(3) ufa sferE? srfufm, 1894

(@) dfwm (FgERE W) e
(deie) fadrass, 2012

freferfaa § @ weod g Y A
%! ug=d HH-9 87

(1) W, o 3go Ho-TgH, I
(2) THo 3Mgo Ho-TgH, I, I
(3) ¥, weien, faggfen

(@) Tt gam, &, Fgien

(1) a3 7t T S R

(2) Fee, BT iR S R AR
A dEreR @ I 2

(@) FR-TE ® e w5 T
S AT Y var e

4) m@@ﬁ-@ﬁ%ﬁﬁﬁmm%
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T
72. Which of the following sets of 72. A2 e qﬁnﬁ?ﬁﬂ%?
eatables is rich in iron? Gic Bk

(1) Amla, Spinach, Potato
(2) Amla, Potato, Tomato

(3) Cabbage, Okra, Jaggery (3) s, Foet T8
(4) Amla, Spinach, Jaggery (4) e, T, 9
73. Almost in every part of our country, 73. AR W ¥ o asft uymi # B =
chillies are added while cooking d N1 i g # e Sl § TAR 2
food. Chillies were brought to our e 2
country by the traders who came ﬁﬁéaﬁﬁﬁaﬁ
from : (1) 2fqor ST qA
(1) South America - @) A (A
(2) Afghanistan
3) AR @
(3) Australia )
(4) AR q

(4) Uzbekistan
Pffaa & @ @e-a vt e Y ¥

; ; g 74.
74. Which of the following birds makes 3 ?
its nest among the thorns of a Fiel % =g AT T 8
cactus plant? (1) =
(1) Weaverbird 2) i
(2) Robin bird
(3) Tl
3) Dove
: (4) TR
(4) Sunbird
. Bt 75. Tt oy & frew # A= Ry g faw #@
75. Read the following description of an N v S .
animal and identify it : 7Y I TR ;
“It looks like a bear but it is not. a7 “ﬂmﬁ'@m% g I e R W@
It spends almost 17 hours a day o & @ 17 92 341 H TmEne | I
sleeping while hanging upside down AeHa T B 98 R 39 | Ea 2 3
on a tree branch. It ea:ts t.helleaves 1 st @@ 21 9" @ 40 a§) 9%
of the same tree on which it lives. It i e 21"
lives for about 40 years.”
(1) Chimpanzee (1) ferth
(2) Panda (2) ¥
(3) Sloth (3) iy
(4) Langur (4) TR
P-1/EE* 28
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76. Which of the following groups of

77.

78.

P-1/EE*

animals has excellent sight and can
see things four times more than
humans?

(1) Snakes, Silkworms, Lizards
(2) Kites, Eagles, Vultures
(3) Bees, Mosquitoes, Butterflies

(4) Tigers, Leopards, Bulls

Read the given description of
farming and identify its type :
“After cutting one crop, the land is
left as it is for some years. Nothing is
grown there. The bamboos or weeds
which grow on that land are not
pulled out. They are cut and burnt.
The ash makes the land fertile.
When the land is ready for farming
it is lightly dug up, not ploughed.
Seeds are dropped on it.”

(1) Jhoom farming
(2) Step farming
(3) Irrigation farming

(4) Cooperative farming

When a snake charmer plays on
his musical instrument Been, the
snake swings its head to and fro to
its sound. How do you think the
snake responds to the musical
instrument?

(1) By smelling the instrument

(2) By hearing the sound produced
by the instrument

(3) By seeing the movement of the
instrument

(4) By responding to the vibrations
produced by the instrument
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76. = Ry wg SfEt ¥ wggl & ¥ B i

77.

78.

A8 Tt ® qon A wgedt it g d 9w T
At g 6 Fegait F @ e €7

{1) “Tq’ m"ﬁz, iﬁqaﬁ'“
2 =, ®s, g

(3) wywad, e, fameh
(4) =™, dgeT, Wig

9 Ry T Bt T F FEw F oaly aik
Tq 7 it TgEH HIT

‘U@ FEE P FEA F UEN €@d B FD
91 % fore @relt B e st @) 3ot 3w
oft 7t TR ST R 1 W o W |t @ o
TEdER, St B I I R, 3% @
TE ST, s wen e s ) w® @
qfy H IR T B 5@ q@ offy Tl F
fe 4ar & STt B, 7@ W Few-A @R
S 8, 4 @ S @ S R s W
st oo fag wma &1

(1) o= &

(2) g wdlt

(3) T @t

(4) wEwd St

S| I WYU A T 9 7 H qwww §,
@ W7 Iuh! | W e R F m-am

AT 1 A9 TR @l a9 % i
SR Y o @ R?

(1) 39 9 99 & goa

(2) 3 9T IF I | H TR

(3) 3T T 9 &t T F T@EH

(4) 39 9/ I9 FW I FFE & Wi

S
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79. “A family is a unit consisting of
mother, father and their two
children.” This statement is :

(1) incorrect, because there are
many kinds of families and one
cannot classify family as being
of only one kind

(2) correct, since this is an ideal
family size

(3) correct, because this is what all
Indian families are like

(4) incorrect, because the
statement should specify that
the children are biological

80. The gastric juice in the stomach of
human beings is and aids in
the digestion of food.

(1) neutral

(2) acidic

(3) alkaline

(4) amphoteric

81. A teacher of Class III had asked
children to classify the leaves of the
following trees/plants into different
groups—lemon, mango, basil, mint,
neem, banana, etc. Some students
classified leaves as (a) leaves with
medicinal values and leaves without
medicinal values, (b) big leaves and
small leaves. The teacher marked
group (a) as right and group (b) as
wrong.

Which of the following statements

reflects the teacher’s view of learning

and assessment?

(1) Children bring multiple
perspectives in classroom which
is to be appreciated.

(2) Children can use multiple ways
of classification depending upon
their experiences.

(3) Classification task 1is very
specific and structured and
there is one right answer.

(4) The activity is focussed to seek
information from leaves which
can be interpreted differently.
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80.

81.

57 &1 FA N Al
N o o, i o 7
()ﬁﬁ’t‘- afram F1 FAa UF T

Fq 1 F UF WAE T AW T F
freferfiaa o2t /ddt 1 afedl 1 fabm
i ffFa FA H F@ AG—iE, 7m,
qerd, gén, Him, Fen A | Fo rnfdE
3 ofwet @ TffEm 3@ TSR fEn—
(@) T3 % it et gfwal 3R qEnsd &
1 & fa ofEl, b) 7 et st 9@
uferal| fes 3 @98 (o) =t & A AR
TR (b) &1 T4 |
Frafafas st @ SF-m F9 afmm
R ke & wia Rew ¥ gwm @
wfefafera s 27
(1) o= 9gd YR F Gl H Faw § 3
M &, et wren 26 =i
(2) Wﬁ@lﬁﬁﬂtﬁﬂtaﬂ%gﬁ
THH F Fga-q FhH F1 3790 W
T 2|
©) T & Fm wgm fafw
WHT ¢ 9 @ A wd W
gt B =
(4) 78 Brarbems ot & qe oam w0

W 3B 3}, forew frr a0
Gehd! |



82. Which

83.

84.

: among the following
co.nsxdcrations would you keep in
m"’_’d, vlvhile designing a group
activity in your EVS class?

A. Engage the interests of the
children.

B. Appeal equally to boys and girls.
C. Use expensive material.

D. Appc?al to children of all
religious and cultural
backgrounds.

(1) A, Band D

(2) A, Cand D

(3) Band D

(4) Band C

All of the following statements
provide arguments in favour of
teachers and students to collectively
engage in group activities in EVS,
except one. Which is that
statement?

(1) Children learn more by talking

and discussing with other
children.
(2) Children show marked

improvement in scores because

of group activities.

Adult support can help children

construct knowledge beyond

their ability.

(4) Children learn to collaborate
and cooperate.

(3)

Which of the (ollowing tools will be
appropriate for assessing social-
personal qualitics of children
engaged in lcarning EVS through
group work?

(1) Papcr—pcncil tests

(2) Oral questions

(3) Rating scales

(4) Assignments

P-1/EE*
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82. WA R N wwh wa A wHg

forarram =1 Fin @ FE
mﬁﬁmm§?m

A. == 6t s e

B. weh iR wefrdl @ wim w9 R
TRt @ |

C. 3o Yeuan |l e A

p. @ff uwffs it wshe %
=1 T @ L]

(1) A, B3RD
(2) A, C3MD
@) B3MD
4) B3RC

ss.ﬁnﬁ-ﬁaﬂwﬂwwhmamﬁ

A w0 A B # dom R
sin il % ua # 9 WA @ 8§
¥ TH ®UA W BIEW| T FH

HH-a1 87

(1) T q@t =l @ iR wEW FH 4
aftrs di@d 2

(2) wE Brarremdt 1 a9 § 9= I
Jqefed 7 IS UR FeRid A

(3) ﬁﬁ%wﬁ?ﬂaﬁaﬁmﬁmﬂ
R TR 5 fmin # weEa e
ol

4) F9 WER aEeE IR wedr &
Hrad g

. TE w@ A AoPA W R = R

mﬁmﬁiﬁaaﬁ%aa:-mmﬂa?ﬁﬁ
FugH BN
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85.

86.

87.

Following are some intuitive ideas of
chnldni:n about plants. Which of
them is scientifically correct?

(1)
(2)

Seeds are not parts of a plant.

Carrot and cabbage are not
plants.

(3) Grass is not a plant.

(4) Some vegetables are fruits.

A teacher of Class IV told her
students—“Ask some old people if
there were plants they had seen
when they were young but are not
seen these days.”

\_Vhich of the following skills is not
likely to be assessed by asking this
question?

(1) Questioning
(2) Expression
(3) Experimentation

(4) Discussion

A teacher asks every child to use
some waste material from their
homes and make something useful
out of it.

The pedagogical intention of the
teacher is not to :

(1) judge the best student of the

class

develop creativity among

children

make children understand the
concept of recycle, reuse and

reduce

(2)

(3)

organize an exhibition of best
articles made out of waste

(4)

P-1/EE*
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8s. ﬁthq’i%ﬁirﬁﬁiﬁﬁ%m

86.

87.

TR

for m ¥ T A AW
s g @ e A7 <

(1) o foeft A 1 T T @

2) memqﬁﬁl

(3) WW@%'

@) 3o wfel Bt 8
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;) srrerpa € @ ved |

s 7 % @ i W el i 3
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arft A $8 IR 9Eg 99N H FEa R

e =1 Dt 1t i § -
(1) =& % A8 faemefi % 4R § fofa =@
(2) =t # gomierar &1 R F

(3) o= W gAwew, gEaEm o
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4 % ¥ st Jm agelt H w
R e



88.

89.

90.

Read the following questions :

A. How well did I plan for the
activity?

B. How well did I follow the plan?

C. What were my strengths?

D. What exactly did I find difficult?

Answers to the above four types of
questions will comprise :

(1)

summative assessment by the

teacher
(2) children’s self-assessment
(3)

(4)

teachers’ self-assessment

self-assessment of children and
teachers both

The language used in an EVS

textbook :

(1) should be technical and formal

(2) should be related to everyday
language of the child

should be terse and difficult for
children to comprehend

should be formalized with
emphasis on definitions

(3)

(4)

A teacher gives pictures of different
animals to his students and asks
them to colour the animals that do
not live in their houses. The
objective of this activity is to
develop :

A. creativity

B. observation

C. classification skill

D. data collection

Which of the above are correct?
(1) A, Cand D
(2) A, BandC
(3) A, Band D
(4) B, C and D

P-1/EE*
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88.

89.

90.

Frefeftaa wwt =6t afee -

A, W fraepema Y demn feaft st
TAR?

B. H AN w1 srgawn fea ews
fe?

C. i wifwat w7 ofi?

D. G W9 HfeA 1 @m?

W Ru T 9N FER F ww F oI @

am
(1) TRere g1 A9 SATehe

(2) o= B E-3ATHeH

(3) et @ w@-2AreHe

(4) ==t 3fR Rgment, AT H1 wE=-TRTH

i SERH W UeS-gEE o

ST -

(1) TR 3R sho=ies B =ik

@) ¥= & fA-wffE i o @ G
Bt =Ry

(3) wE 3 s F T AW T Bl
Tt =Ty

(4) iRl W 9w o gu =i o
STHI =R

% e oron forenfiat Y Tl ugpett &
o 3@ 3 3R 3 UgRll W 1 WA 1 wear
2 S TR w A 1 WA | 39 SR &
RAE

GHTHSHAT 1 TTHrd HEAT
JacrR i fom T
fferr et o R e

. BRI UUE W fam e

I o A -9 A &7

(1) A, C3RD

(2) A, B3RC

(3) A, B3R D

4) B,C3RD
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PART—IV

Language—I

ENGLISH

IMPORTANT : Candidates should attempt gquestion
91 to 120), if they have opted ENGLISH as Languag

¢ from Part—IV (Q. Nos,
e—I only.

Directions : Answer the following
questions (Q. Nos. 91 to 105) by selecting
the correct/most appropriate options.

91. Home language is in a natural

way.

(1) promoted
(2) acquired
(3) learnt
(4) taught
92. Which of the following is not true
while teaching the learners in their

mother tongue at primary level?

(1) It helps children in learning in
a natural environment.

(2) It develops self-confidence in
the child.

(3) It makes learning easy.

(4) It is helpful in the intellectual
development of the child.

93. Communicative language teaching
lays emphasis on :
(1) grammatical competency
(2) language use

(3) form

(4) writing

P-1/EE*
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94.

95.

96.

97.

& teacher of -Class II, is

resenting language items in her
Fx)mtructions and the learners are
::loing exactly as she 18 telling them

to do. What is she practising?
(1) Total physical responsc
(2) Direct method

(3) Audio-lingual method

tive language

mmunica
1) R - method

While teaching language to learners,
a teacher should teach :

(1) by giving instructions
(2) through imitation
(3) in isolation

(4) in an integrated manner

An intonation may not be a
tone.

(1) sliding
(2) rising
(3) falling
(4) loud

stands for
grammar in/

Functional grammar
using / teaching
through :

(1) explanation of literary content
(2) context
(3) isolation

(4) parsing



—

101.

102. A

98. A tgacher asks the learners to think
f’f ideas quickly about the topic :
Save Water’ and also asks them tt;
note down their ideas before writing

the article on ‘Sav
: e Water’. i
fooussing on : ter’. She is

(1) brainstorming
(2) assessment
(3) checklist

(4) drill

99. Which of the following is not a form

of literature?

(1) One-Act Play
(2) Dictionary

(3) Memoir

(4) Travelogue

100. Assessment is :

(1) judgemental
(2) product-oriented
(3) process-oriented

(4) both process- and product-

oriented

Which of the following is mnot

formative assessment?

(1) Term-end assessment

(2) Anecdotal records

(3) Portfolios

(4) Oral testing

teacher asks the students
to assess their classmates during

a debate competition in the class.
This method of assessment 18 .

(1) individual assessment
(2) peer assessment
(3) self-assessment

(4) group assessment

pP-1/EE*
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(a) Assessment

(b) Assessment

(c) Assessment

104. Which of

103. Match the following :

Types of

assessment Meaning

(i) It is used during the
process of learning
and teaching.

(i) It is wused when
students reflect on
and monitor.

(iii) It is used towards
and at the end of the
instruction period.

of learning
for learning

as learning

(1) a b
i1

(2 a b 0
ii i

(3) a b
i ii

“4) a b
i il

the following is mnot

appropriate about language games?

(1) Language games create a stress-
free and natural environment
where learners can learn
English, the way they learnt LL

(2) Language games create an
environment even for the shy
learners to participate.

(3) Language games provide
competitive environment to the
learners to win the game by
any means.

(4) Language games create a real
world context in the classroom
and enhance the usage of
English.

105. Remedial teaching is for :

(1) improving the .image of the
school

(2) the learner to learn better

(3) the learner to learn better and
the teacher to improve his/her
teaching

(4) the teacher to teach better

[ P.T.O.



the passage given
the questions that
follow (Q. Nos. 106 to 114) by selecting
the correct/most appropriate options.
The Mahatma'’s remarkable wife,
Kasturabai, did not object when he failed to
set aside any part of his wealth for the use
of herself and their children. Married in
early youth, Gandhi and his wife took the
vow of celibacy after the birth of several
Sons. A tranquil heroine in the intense
drama that has been their life together,
Kasturabai has followed her husband to
prison, shared his three-week fasts, and
fully borne her share of his endless
responsibilities. She has paid Gandhi the
following tribute :

I thank you for having had the privilege
of being your lifelong companion and
helpmate. 1 thank you for the most
perfect marriage in the world, based on
Brahmacharya (self-control) and not on sex.

I thank you for having considered me your |

equal in your lifework for India. I thank
you for not being one of those husbands
who spend their time in gambling, racing,
women, wine, and song, tiring of their
wives and children as the little boy quickly
tires of his childhood toys. How thankful
I am that you were not one of those
husbands who devote their time to growing
rich on the exploitation of the labor of
others. '

How thankful I am that you put God and
country before bribes, that you had the
courage of your convictions and a complete
and implicit faith in God. How thankful
I am for a husband that put God and his

As a young child, I lived in your parentg’
home; your mother was a great and gooq
woman; she trained me, taught me how
to be a brave, courageous wife and how
to keep the love and respect of her son,
my future husband. As the years passed

and you became India’s most beloveq
leader, I had none of the fears t.hat beset
the wife who may be cast aside when
her husband has climbed the lz.adder of
success, as so often happens In other
countries. 1 knew that death would still

find us husband and wife.

106. How did Kasturabai react to
Gandhiji’s will?
(1) She felt quite unhappy.
(2) She was astonished.
(3) She accepted his decision
without arguing.
(4) She decided to discuss the

matter with her parents.

107. Kasturabai impressed the author
most because she :

(1) was an embodiment of humility

country before me. I am grateful to you for
your tolerance of me and my shortcomings
of youth, when I grumbled and rebelled
against the change you made in our mode

(2) never questioned her husband’s
decisions

(3) was at his beck and call

(4) s_tood by him through trying

of living, from so much to so little.

P-1/EE*
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108. Husbands given to vices made | 112. The word opposite in meani
ing

Kasturabai g
asturabai feel : to ‘lifelong’ is :
(1) disgusted

(1) weak
(2) furious

(2) ardent
(3) unhappy

(3) temporary
(4) sad

(4) brief

109. Kasturabai’s relationship with her

mother-in-law can be described as :
113. Which part of speech is the

(1) respectful underlined word in the following
sentence?

« . any part of his wealth.”

(2) formal
(3) conventional : (1) Conjunction
(4) informal \ 4

(2) Adjective

110. The author’s attitude to Kasturabai (3) Adverb

is :

(4) Noun
(1) sympathetic
(2) commendatory

114. The sentence, “Some husbands

spend their time in gambling’
when changed into passive voice

(3) neutral
becomes :

(4) ambivalent
(1) Some husbands whose time was

spent in gambling.

111. The word 4ranquil’ as used in the

passage means - (2) Some husbands spent their

time in gambling.

(1) loyal
(3) Time is spent in gambling by
Q- some husbands.
(3) gentle o
(4) Some husband.s whose time 18
(4) calm spent in gambling.
P-1/EE* 87 [ P.T.O.
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Directions Read the
below and answer

the correct/most appropriate options.

I cannot rest from travel : I will drink
Life to the lees : All times I have enjoy’d
Greatly, have suffer’d greatly both
with those
That loved me, and alone, on shore,

and when

Thro’ scudding drifts the rainy Hyades
Vext the dim sea : | am become a name;
For always roaming with a hungry heart
Much have I seen and known; cities
of men
And manners, climates, councils,
governments,
Myself not least, but honour’d of
them all;

115. The speaker can be described as :
(1) a frolicsome person
(2) a vagabond
(3) a seeker after the truth
(4) an adventurer
116. The expression, ‘drink life to the
lees’ means :
(1) to live life to the fullest
(2) to live a life of pleasure
(3) to face challenges bravely

(4) to live a life of adventure

P-1/EE*
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117.

118.

119.

120.

he following statementg

Which of t
is true?
(1) He has lost interest in life.
(2) The speaker is an aimlegg
wanderer.
i adventures have  ng;
- 511:nged his outlook.
(4) He has suffered and enjoyeq

greatly.

i o least, b
line, “Myself ngt , but
'}l;l;;our’d of them all” reveals that

the speaker is :
(1) arrogant
(2) prohe to bragging

(3) a garrulous person

(4) conscious of his merits

The figure of speech used in ‘drink
life to the lees’ is :

(1) assonance

(2) simile

(3) metaphor

(4) personification

Which literary device has been used
In ‘hungry heart”

(1) Irony
(2) Assonance
(3) Simile

(4) Alliteration
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PART—V

Language—II
ENGLISH

IMPORTANT

j Candidates should attempt questions
121 to 150), if they have opted ENGLISH as Language—1I only-

M——v ‘Q' Nos.

from

Directions :

Answer the following

questions (Q. Nos. 121 to 135) by selecting
the correct/most appropriate options.

121. Language is not :
(1) social
(2) arbitrary
(3) symbolic
(4) instinctive
122. When. language development is
a deliberate and conscious effort,
language is :
(1) brushed up
(2) learned
(3) acquired
(4) honed
123. What is a ‘task’ in task-based
language learning?
(1) A piece of work for the parents
to do their children’s homework
(2) A piece of activity for teachers
to do in the classroom
(3) A piece of work which expoées
learners to language
(4) A piece of work which enables
learners to do an activity
P-1/EE*
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124. Travelogu

125.

126.

e is a genre of :
(1) bibliography
(2) literature

(3) poetry

(4) criticism

The most jmportant aspect 9f
an effective language classroom 1S
to provide learners with an

opportunity to -

(1) interfere

(2) assess

(3) imitate

(4) interact

A teacher of Class V is practising
4nteractive listening’ in the class.
She should focus on :

listening to word stress and
intonation

(1)

(2) listening to the pronunciation

(3) listening and responding

(4) listening and

speakers’ attitude

observing



128.

129,

grg;}}mciatjon as another, but with
erent meaning jg a/an :

(1) homophone
(2) antonym

(3) Synonym
(4) homonym
A shorter form

which usually
verb, is :

of a group of words,
occurs in an auxiliary

(1) connector
(2) contraction
(38) conjunction

(4) connotation

Aditi, a visually challenged child in
Class IV, does not have any text in
braille. How can a teacher facilitate
her in reading the English textbook?

(1) Instead of focussing on this
single child, she may use
her energy in teaching the
remaining class.

(2) She may ask her parents to look
after their child.

She may ask the principal to
arrange a special teacher for

her.

(3)

She may arrange and give the
audio CD of the textbook to the

child.

(4)

-1/EE*
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131.

132.

130. Poetry teaching is generally meant

for :

(1) learning punctuation

(2) enjoyment and appreciation
(3) language learning

(4) learning grammar

a second

Reading English as
language means :

(1) reading for grammar

(2) meaning making

(3) decoding of letters and words
(4) reading aloud

When learners give feedback on
each other’s language, work,

learning strategies, performance,
etc., it is called :

(1) group assessment
(2) self-assessment
(3) peer assessment

(4) formal assessment

| P.T.O.



LA A teacher altor completing o chapter
ankn the atadentn mome quentionns
tooreview thelr learning and check
thelr underatanding, The quentionns
ahe in anking will be baned on

(N hyperorder thinking akills
() higher-order thinking alkilln
(3 middle-order thinking skills

(H) lower-order thinking skilla

134. A good teaching- learning materinl

(TLM) can best !

(1) help the tencher Lo
transact materinl without any
modification

(2) help  the learners

a language

acquire

(3) facilitate the teaching-learning
process

(4) be a source of entertainment

135. While providing feedback to the

parents, a teacher should not :

(1) share the incidents recorded in
the anecdotes

(2) compare their child with other
children

(3) compare the current performance
of the child with her previous
performance

(4) give qualitative feedback about
the child

P-1/EE*
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the  phssape piven
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(o 143) by nelecting
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Directions 1 Hru‘:l
helow  and mm\lpv_rl;
follow (). Now. 4« .
the correot/most approp
painting in the

hiani
The wrt ol Maclhu

cve
traditional ntyle d
in the villages

d in the Mithilg

lope
around Madhubani,
!‘pHIIlIl.

Bihar, Madhubani lite
¢ of painting han been

rally means a foreu

ol honey, Thin niyl
traditionally used by

me
region, though today ‘
The work is done

For

now heing done

the women of the

n are also involved

to meel the demand.

. alls,
on [(reshly plastered mud W
commercial purposes, it 18

on paper, cloth, etc,

The paintings arc basically of religious
nature. They arc done in the spccial rooms
of their homes (in the Pooja room, ritual
area, bridal room), on the main village
walls, etc., for ceremonial or ritualistic
purposes, The women offer prayers to the
deity before starting the work. Figures from
nature and mythology are adapted to suit
their style. The themes and designs widely
painted are the worship of Hindu deities
such as Krishna, Rama, Shiva, Durga,
Lakshmi, Saraswati, Sun and Moon, Tulsi
plant, court scenes, wedding scenes and

other social events taking place around
them,

Floral, animal and birg motifs, geometrical
designs are used to fj]] up all the gaps.
There is hardly any empty space in this

46



style. Cotton wrapped around a bamboo
stick forms the brush. The colours applied
arc prepared by the artists. The skill is
handed down the generations, and hence
the traditional designs and patterns are
widely maintained. It is believed that
the genesis of Madhubani paintings came
about when King Janaka asked for

paintings to be developed for his daughter
Sita’s wedding.

136. Madhubani paintings are no longer
done exclusively by women on
walls :

(1) because cloth is more durable

(2) to meet their widespread
demand

(3) as men are better painters
(4) as paper is cheaper
137. Madhubani paintings are essentially

of religious nature when they are
done :

(1) in the Pooja room
(2) in the bridal room
(3) on the village walls

(4) using figures from nature

P-1/EE*
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138.

139.

140.

These paintings become sccular

when they depict :

(1) court scenes

(2) worship of Saraswati
(3) Tulsi plant

(4) wedding scenes

A Madhubani painting shows only :

(1) a balanced portrayal of all of
them

(2) Hindu deities

(3) flowers and plants

(4) geometrical designs

The art of Madhubani painting is
learnt in the :

(1) Ashrams of Madhubani

(2) schools of art

(3) families at home

(4) homes of renowned artists

I B.T.O,



141. TFloral’ is an adjective derived from
the noun, flower’. Aural is derived
from the noun :

(1) mouth
(2) morning
(3) ear

(4) eye

»

142. “... on freshly plastered mud walls.

The word ‘plastered’ is a/an :
(1) particle

(2) gerund

(3) infinitive

(4) participle

’

means the

143. The word ‘genesis
same as :

(1) growth
(2) birth
(3) original

(4) spirit
P-I/EE*
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the PpasSage givey
the questions thy,
to 150) by selectin,
propﬁate options,

Read
answer

Nos. 1
t/most ap

Directions
below an
follow (Q-
the correc

able feature of E
o simplicity- There were

innumerable scientists posscs.sing deep
knowledge of electricity, Chemlst.ry, etc,,
but it was this unschoo.led genius whq
succeeded where they failed. What were
his unique qua]ities? Firstly, he ,had -
to judge the practical use
Secondly, he wag

dison’s inventiong
A remark

was their bast

uncanny ability

of any scientific fact.

blessed with patience and ‘ |
He would try out countless ideas till he

found the right one. Third was his business
acumen, which enabled him to earn the
large sums of money necessary to conduct

perseverance,

experimental work.

for work and

Edison’s enthusiasm
optimistic attitude ensured a long and
productive life. Only after crossing the age
of seventy-five did he start slowing down.
During his final illness, his curiosity about
his condition, medicines, and treatment,
made the doctors think that possibly
he was taking this too as one of his
scientific investigations ! He passed away
on 18 October, 1931, at the ripe old age of

eighty-four.

During his lifetime itself Edison became
one of the most famous men in the world.
Honours were showered on him. Among
them was the congressional gold medal in
1928 for his contributions to human
welfare. In 1960, he was posthumously



T e TR e e —

eleCte.d to the Hall of Fame for Great
Americans at New York Universj

. ty. But the
trxt.:ute that wag most eloquent was quite
unintended. The authoritieg contemplated
n New York,
882, for two

switching off the Power supply i
the scene of hig triumph in )

in
minutes as a mark of respect on his death.

But 1931 was not 1882, Since normal life
would have come tq a standstill by the
t\jvo-minute Power cutoff, the idea was
given up. There could be no greater tribute
to the man than thig negative tribute !

144. The most re

: marka
Edison’s inve ble feature of

ntions was their :

(1) aesthetic aspect
(2) fundamental simplicity

(3) multiple usefulness

(4) low cost

147. Edison’s long and productive life can
be attributed to :

(1) his immensely good health
(2) a large circle of friends

(3) his involvement in charitable
work

(4) his positive attitude

148. The word ‘uncanny’ as used in the

passage means :
(1) weird
(2) great
(3) terrific

(4) astonishing

149. The opposite of famous’ is :
_ (1) unnoticeable
145. According to the author, Edison
became prosperous because he : (2) unpopular
(1) had luck on his side (3) unknown
(2) worked very hard
(4) negligible
(3) made the best use of his time
(4) had great business sense 150. Which part of speech is the
underlined word?
146. To conduct experimental work, “... any scientific fact.”
Edison needed :
1) Preposition
(1) sophisticated gadgets ) P
(2) support of generous patrons i o
(3) huge amounts of money (3) Adjective
(4) calm and quiet atmosphere (4) Adverb
P-1/EE* 49
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. Out of the four altern

. The candidates

i i i tions ar

r in which the different ques e to
'ghc m‘:-,?vt;icd has been explained in the Teg
B?)of:l?:t which you should rpad carefully before
actually answering the questions. .

atives for each qltcsgon, only
: is to be darkeneq

for the correct answer is

o Ci;ileiyowith Black/Blue Ballpoint Pen o
Hado MR Answer Sheet. The answer once

side-2 of the O
marked is not liable to be changed.

should ensure that the Answer
: tray mark:
ot folded. Do not make any s s
S:efk:c] SAlgswcr Sheet. Do not WEILET Ro_ll No,
anywhere else except in the specified space in the
Answer Sheet. )
Handle the Test Booklet and Answer Shect with
care, as under no circumstances (except for
discx’-cpancy in Test Booklet Code or Number ang
Answer Shect Code or Number), another set will be
provided.
The candidates will write the correct Test Booklet
Code and Number as given in the Test
Booklet/Answer Sheet in the Attcndanc_c Sheet.
A machine will read the coded iinformation in the
OMR Answer Sheect. Hence, no information §hould
be left incomplete and it should not be different
from the information given in the Admit Card.
Candidates are not allowed to carry any textual
material, printed or written, bits of papers, pager,
mobile phone, electronic device or any other
material except the Admit Card inside the
Examination Hall/Room.
Mobile phones, wireless communication device
: S
{even in switched off mode) and the other banned
items should not be brought in the Examination
Halls/Rooms. Failing to comply with thig
instruction, it will be considered as using unfair
means in the examination and action will be taken
against them including cancellation of examination,
Each candidate must show on demand his/h
Admit Card to the Invigilator. / il
No candidate, without special issi
s al permission of the
gfsl}geerS:e;;nntendent or Invigilator, should leave
The candidates should not 1 o
Hall/Room without han%inegav:vé?et}]?:iarmkzzt\gﬂ
Sheet to the Invigilator on duty and sign th
Attendance Sheet twice. Cases wher i
has not signed the Attend e a candld_ate
will be deemed not to ﬁnce Sheet second time
Answer Sheet and dealt witalreashgg cl::dl‘ g
case. The candi nfair means
their left hand :}::J?ma::a o xeyuited B gk
provided in the Attendangze;:,i:l: in the space
Use of Electronic/M -
The candidates lar: nual Calculator is prohibited.
Regulations of the Exgsr‘:ier'ncd by all Rules and
their conduct in the Ex ning Body with regard to
cases of unfair means i?llllnauo:] Hall/Room. All
Rules and Regulations ofl thbe dealg with as per
No part of the Test ¢ Examining Body.

Booklet and A
be detached under any cirr:ums?;181-‘.1\:;?5-,Sheel e

On completion of
hand over the : the test, the candidate must

in the Hall[Roonl:“;‘;" Sheet to the Invigilator
to take away th ta € candidates are allowed
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Test Booklet with them.
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